A Temple of Education

NILACHAL EDUCATIONAL TRUST
ODISHA VIDYARATNA AWARD
CLASS - VI

Time : 3 Hrs. Full mark : 120

Instructions to the candidates :

o All questions are compulsory. Candidates should write the answers only in the blank space provided.
o Cﬁg\igsates are advised to attempt either the Odia medium or the English medium questions as per their
) ihere will be no negative marking for any wrong answer.
[ Do the rough works on the sheet attached at the end of question paper.
A. Fillin the blanks with correct articles.
Q1. Godavari is a holy river.
Q2. Heis university professor.
Q3. |saw one eyed man.
Q4. Thisis H. S. school.
Q5. Rabindranath is Shakespeare of India.
B. Fillin the blanks with collective houns. S
Q6. The shepherd is grazing his () sheep. e
Q7. A crowd gathered tow of $hipsifi the harbour.
Qs. A of bees attac @é\hek(uldren.
Q. A / : é\@ bers discussed the matter.
Qio. A — of WQIV ran after me.
C. Use correet er,n) of verb given in the brackets.
Q11. They usually (drive) to the movies in their van.
Q12. David and his friend (watch) the cricket match for three hours.
Q13. He (know) me for the past ten years.
Q14. The school (break) up for summer vacation on may.
Q15. We (pay) for our work by the owner of the shop, yesterday.
D. Use correct form of adjective.

Q16. My sister is (old) to me.

Q17. The question is (difficult) than the previous one.
Q18. This book is not the (good) choice.

Q19. The (near) bank is five miles from here.
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Q1.

Q2.

Q8.

Q4.

Q20. Try to look (much) beautiful.

Use pronoun.

Q21. My brother does his assignments

Q22. This is the boy was honoured.

Q23. Passengers are reminded to take their luggage with
Q24. | locked it

Q25. is this umbrella?

Put prepositions.

Q26. | have been working here five years.
Q27. The keys fell the pool of water.

Q28. | am good dancing.

Q29. | have not seen him last Sunday.
Q30. He has no control his brother.

Put conjunctions.

Q31. A soldier must be strong courageous.

Q32. He reached the meeting had ended.

Q33. We love and honour him.

Q34. He is very intelligent careless.

Q35. We know the value of trees, we are felli em unnecessarily.

Fill in the blanks with appropriate auxiliary verbs.

Q36. Seventy kilometres tance.
y g g
Q37. The police / chaging th bugj

Q38. Fish and chips ¢~ o SO expensive.
Q39. A her@of eleph nté\ \ see in the forest.
Q40. On of*ns*frlen able to speak English fluently.

™

6AIRG Fltl 6@ B 8 QQYe QQ@G |

elements are good conductor of heat and electricity.

3 0R 6AIRAR QRIS |

and are examples of liquid elements.

€ QA 2 |

and are examples of metalloids.
6IRGR Ar6aGR J@ PINe Q0@ |

Symbolic representation of elements are called
AUIRIOAN RIERIERTR TERE 6% |
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The formula of calcium carbonate is
Q6. dIRe" SICIER dQl 2R @I 269" |

The acid present in spinach leaves is called
Q7. @QI@@Q oM YIQEQ QUQLIRN @QRUIN |

is used as a natural indicator.
Q8. R 68RQ RIAR JLe AR, QI |

The shawl prepared from the fur of Kashmir goat is called

Q9. @86 AUXFRR € ERIAQ TSN ALY @9 |
In South Africa and fur is used to make fibres.
Q10. 6QSIF AITQ QI Tradiea 2dem 2| 6QSIF IBI6Q IREIG 2 |

of silk worm converts into silk fibore when get contact with air.

Qil. JIReAIgaa 6dIBE QIR SlIY QIR RQEIN |
Plasmodium has mode of nutrition.

Q12. @8R IR Q0@ |
Pitcher plant is a type of plant.

Q13. §RIaq 28 UIRREIER Zleks I8 a0l 2rele. RRIAN |

The finger like projection found in the inner layer of small intestine is called .
Q14. CIEQ Y2I@ e QER FLER 6615 @@ €8Il IR 6FGlIaNg, olRIge" QI |

A bag like structure present between tfie small intgsting and larg intesfine of the cow, it is

called .

Q15. P ug@@; Qe BleIde Je@6a 221K R6Q |
({_is ano -me\tal ut a'good conductor of heat and electricity.
Q16. Q@\Q@\Oﬁf&%@l dé eI QAR R QIR AR VRS 1@ |
* instrument cannot measure the temperature of boiling water.
Q17. 8@ 2BYATRIQ IR |
soil is prepared from igneous rock.

Q1s. fRIq 61006 AIS 2@ 26S' |

The soil prepared from rock is acidic.
Q19. 696 YRR AR IS AITEOR eRe AN G116, QQITN.

The process in which the upper layer of water goes inside the soil is called
Q20. O 8l OIF IR QULS |

soil is suitable for cotton production.
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Q21.

Q22.

Q23.

Q24.

Q25.

Q26.

Q27.

Qz28.

Q29.

Q830.

Qa31.

Qs2.

Q8383.

Q34.

Q835.

601569 HI0YR GACE AF 9@ Q16 IR Q21N |

The process in which the food breaks to form energy inside the cell is called
FIPAEASN EQITER GJEm e 2z QI6Q G680 621 60 IQEIG 21 |

In muscle cell the incomplete breakdown of glucose converts into
Al QIR AR K6 |

Cockroach respirates by their
QRN JGER 2RI I @4lIg. QI |

The leaf pores are called in plants.
SIGRR6R 6Qa° 96 IR QAR YRR QRIY QWA JdIR T 621R 65IR QAR

ol
During winter the frog undergoes to maintain the temperature in their body.
QIR UERER AR UG e |
The climate of region of the world is very cold.

QINN QIR 2| I |

is used to measure the humidity of air.
RAIFEQ 019 TFORE AR 611D ARIFA FQRIQ 29 Q1D |

way is used for conduction of heat without any medium.
"
661G QYR GBI 29 QYR ,qerr@ aNa |

The intensity of heat of an object indi ates [ >

65QIR B @Qe FIRIER | 62 e@MaN |
The relatighship betwee alga and.f ng\m tf& basis of nutrition is called

Qe & QQG"OTQ Q@ ?JI@I@K?J 0 @61 26S' |
The Iarges(or imentary canal is
QelcWleT JIsNAlPe R @I |

The herbivore animals are also called as

Al RIFIC QVER 2R ARSI N,
The grasses are rich in carbohydrate.
QAR °E FYIR QR 62IREIN |

The lichens reproduces by
PIRR G SR TRER QRI§] ALRIQ W6 QRIS |

The bacteria present in the root nodules of leguminous plant is called
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Q36. 690G Aol QILIER 1R ARIREIGS ERSIF QURAIIAIER RUIRY 6QSIR 8@ QUL QIR QSR

Q1219 Q21N |

The main road through which the cloth sellers were doing their business by collecting
fibres from China, that is called
Q37. 2IF diagd@16R QI SlIOY @EI6Q 4Ll 9N |

present in our stomach helps to digest food.
Q38. 21 IR 6@IFER I 2] 22, QIR @I 265" |

The acid that present in our body cell is called
Q39. QAIIAR IFEAI6R 696 606 AQIE 2rSIgRd @Rl 69656 Q1IN |

The element which are used for chemical reaction are called
Q40. 69R 6£1RAR YA RIA JRIR AQFE] 8N, 698aH QLIS Jea. RRIAN |

The element which possess many atomic masses, these atoms are called

Qt. 63—[(—3){—2—@}}[3{&(—2)(—1)}]= _________ .

Q2. QR 3; k.g. 693, 4% K.g. @0R1 @8Rl | QI Bee 6@.5.

Sameera purchased 3% k.g. apples and 4 kg oranges The total weight of fruits

purchased by her

I o~
Q3. 5— o edl Om 1 R
Should b(ﬁed to EJget 1>\ \
15
2

1. LI 6P R

Q4. 9@ 2YERIQ aje“’ Sel 203 q e g 15

A rectangular park is 20% m. long and 15% m. wide. The area of the park is

Q5. Q@6 PEHIQ QEIPR 20% | IO 661G Qretl 62 2\, 666Q 2PY LIS

The product of two number is 20;. If one of the number is 62. the other number is

Q6. 0.00942 @ 0.314 QIR WG REM WGP

Divide 0.00942 by 0.314 and the quotient is
Q7. 24 G @@ R4 2986.80 626@ 76 @RAIQ gaY
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The cost of 24 pens is Rs. 2986.80. Then the cost of 7 pens is
Q8. Q6 @sifie IR GEICPR 1.8576 | 96 66115~ @SIfe el 0.54 91 666Q 2RYS

The product of two decimals is 1.8576. If one of the decimals is 0.54. Then the other one is

Q9. <% oa125-024+ A B, C 606@ A+B+C =
10 100 1000

If 24125-=24+2+ B . C thenA+B+C=
10 100 1000

Q10. [;+;+5j 69 615060 3 HRQ |

should be added to (%+%+%) to get 3.

Qi1. Q6 x=§, =§1 6069 (x+y)=(x-y)=

If x=—, yzg,then the value of (x+y)=(x-y)=

Qi12. ?—2 ~NQ® g@ CLIBIF R 64AI0TR 2V QIR WIGT @Em A |

Divide the sum of —2 and - by their difference, then the answer is

Q13. 3x+5y-7 OIQ) x-2y+3z ZiJe |

x -2y +3z is greater than 3x+5y -7 by g
Q4. -m- [m+{m+n 2m-(m-2n)} | i E
Q5. AARIG @z/"”’ *329 6 eg\L\\

Solve : then X =
1o< j

Q16. LML @R : 0.3x+0.4=0.28x+1.16, 606@ X =

Solve : 0.3x+0.4=0.28x+1.16 then x =

Q17. 661G reiiIa 5 Q81 7 G6LI6l @6m 63 FI6R | 666Q PSS

If 7 is subtracted from 5 times a number the result is 63. Then the number is

Q1s. —% SEAl=IN(o iSQ QeiQ GEITrR |

The product of the cube of —% and the square of _15 is
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Q19. {(32 —22){;]2} =
SRGECIRE

The product of (‘573]4{1]4{‘15]2 is

Q2

©

9) 18
3°x10°x25 _

Q21.
5" x6°

3°x10°%x25 _
5" x6°

Q23. “1946° 6 @ 2R 1 A @8 2 Q8P FAITIRI” | AJ6RIE JATRIIR Q16 FITEE Qd =

Q22. Simplify :

The mathematical expression for “two multiplied by one less than the difference

nineteen and six” is =

Q24. DD x = (<1)x (=1)% (=1)X (=1) X wrerrerererenns 25 times, y = (-3)x(-3)x (-3) 696Q, Xy =
If % = (2 1)x (=1) % (=1) X (= 1) X cerveerrernnns 25 times, y = (-3)x(-3)x(-3) then, xy =
Q25. QRULIRIR! OBERQ m|n . £1=65",666Q H= , 8=
In the given figure m|n. £1=65° then the value of 45= , B=
s
3%/4
56  C -
~ ~ g
Q26. QAUINIQ| @LUER AB|cD “I&° -
In the fig. AB|cp and Ep|EFt
N F
. ] ;
Q27. @ GQ6Q Ac|pE 9&° £LABD=32°, LE=122°, 6G6Q X Ny
In the fig. Ac|pe and £ABD=32" and £E=122°,then x and x = Y=
A B C
32°
X
Y 122°

/N

Q28. 661G QI8 IQ° 2R 2RIRq ERIEIR 2RI NG 75°, 666Q 6161 AQEE!
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Q29.

Q30.

Qa31.

Qs2.

Q833.

Q34.

Q835.

Qg3e6.

The sum of an angle and half of its complementary angle is 75°, The measure of the

angle is

ZANR 4R 616! | LA NQ° 210 JRJRR 62161 9@ QIR 29 30° 666@ LA =

ZAis an obtuse angle. The measure of ZA and twice its supplementary differ by 30°.
Then ZA can be =
Q2ULIRIQ| O26Q AB|cD 656@ X =

In the fig. AB|cD then x =

C

2x+13 D £

» H
S’ 249°¢

ARG 661N CPETIR AEAR ARARIR PIBR | PELITR GG 726@.?1. | Q6OR 62| Ala FESIE

7% 62.81. Q 2A ORI 62RTRQ P12 | 666@ 61T 69.8. RIGQlR JGQ |

Lalit want to put a picture in a frame. The picture is 72 cm wide. To fir in the frame the

picture cannot be more than 7% cm. wide. dth of the picture should be
trimmed. ) g
@ﬁ@@?%Q@@Q@ & —@@ gere! |

Which |3@t;r’?— éor \\ﬁ\
22 X—4 = zﬁz; (x+y)s(x-y)=

If X—1 , y— then the value of (x+y)= (x-y)=

5% +5° =5°, 606@ X=

5*+5% =5°, find x=

0.004579 @ standard form =

The standard form of 0.004579 is

(2* +8? —42){%]2:
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Simplify : (22 +32 - 42)+(%j2 =

Q37. 36.65-15.79+85.2-57.615 =
Simplify : 36.65-15.79+85.2-57.615 =
Q38. 28.73 46° 0.04158 Q Q€IPR =

The product of 28.73 and 0.04158 is = .
Q39. @8 2G QYR AR BRY COVM 6a.5. | U6 U6 IR B8R B C.I 660.6. 29 606Q AFQIL

G o9l 2] |

The total weight of some bags of wheat is 1743 k.g. If each bag weight 49.8 k.g. The
number of bag required is =
Q40. L@ 277 x5"* =1250 @9 6Q6Q N =

If 27 x5"* =1250, then n =

aad

>\\\Y)\§/

o«
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